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; 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/M%Z#Z % — - ~ — — |3mZERBZ B -~ — — —
st 1.00 | 000 ~ 4.78 59.51 | =hst | 0oo ~ 478|172 9.22 Zzh s 1.00 | 5.00 ~ 56.00 59.51 | =S | 5.00 ~ 5.00)|1.72 9.22
2 100kN/m%#BZ25| 1.00| 000 ~ 028| 104.05|3mZEBzB| — ~ — — — | 100kN/mi%E#BZ 5 | 1.00 | 1060 ~ 11.36| 104.05 |3mEHEZS - ~ — — —
Zhst 1.00] 028 ~ 806| 100.00| ThL4 |0oo ~ 806|213 11.41 Fhs 1.00 | 5.00 ~ 1060 100.00 | FnLs | 500 ~ 1136|213 11.41
3 100kN/m#%#BZ5| 1.00 | 000 ~ 0.16| 102831 |3mZEBZB| — ~ — — — | 100kN/m%#BZ% | 1.00 | 11.85 ~ 1242| 102.31 |3mEHEZS -~ — — —
ZhnLst 1.00| 016 ~ 794 100.00 | #nst | 000 ~ 794 1.97 10.66 Zh st 1.00|5.00 ~ 11.85| 100.00 | =nLS | 5,00 ~ 1242 1.97 10.56
4 100kN/m#%#BZ5| 1.00| 000 ~ 037| 10548 |3mZEBzB| — ~ — — — | 100kN/mMi%#BZ 5 | 1.00 | 1267 ~ 1433 | 105.48 |3mEHBZS - ~ — — —
Zh st 1.00) 037 ~ 816 100.00 | ThLs | 0oo ~ 816 1.93 10.54 Fhs 1.00 | 5.00 ~ 1267 100.00 | Tns | 500 ~ 1433 1.93 10.54
5 100kN/mM%E#8Z5 | 1.00 | 0.00 ~ 0.21 103.14 |3mEBRB| — ~ — — — | 100kN/mi% 825 | 1.00 | 11.29 ~ 11.98| 103.14 |3mEHEZS -~ — — —
ZzhnLst 1.00 | 021 ~ 800 100.00 | =nLsY | 000 ~ 800|202 10.80 ZzhLs 1.00 | 5.00 ~ 1129 100.00 | #nLS | 6,00 ~ 11.98| 2.02 10.80
¢ 100kN/MZ#B % % — -~ = —|3mZEBZB| — ~ - — — | 100kN/M%Z#Z % — - ~ — — |3mZE#BZ % -~ — — —
ZzhnLst 1.00 | 000 ~ 711 90.32 | #hst | 0oo ~ 711|182 9.74 Zzhn st 1.00 | 5.00 ~ 9.02 90.32 | =0 | 65.00 ~ 9.02|1.82 9.74
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlsh ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZzhLst ~ ZhLlst ~ ZzhLst ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lo ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZzhnLst ~ Zh Lot ~ ZhLst ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lot ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZzhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZnLs ~ Zh LS ~ ZNLS ~




